HALLOWEEN

WORD PROBLEMS #16

M Solve the following word problems.
LY 4

An evil witch pours 12 ingredients into her cauldron. She
knows in order to finish her stew, she needs 18 total
ingredients. How many more ingredients does she need?

Allen sees 7 scarecrows in a cornfield. Garrett sees 8 more
scarecrows in the field. How many scarecrows do the boys
see in all?

At a Halloween party, there are 5 cowgirls and 9 cowboys.
How many more cowboys are there than cowgirls at the
party?

The boogeyman hides behind a bush and frightens 10 boys
and 6 girls. How many children does he scare in all?
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Lenny takes home a bag of 13 goodies from a Halloween
party. He gives his mom and dad 2 goodies each. How
many goodies does Lenny still have in his bag?
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